il

= N % = i E E

fin F AR P K BT TH & b A




HERER

AN i3
RERF AR F AR FHRET AR A
LIHE
I iE 1 7l # Rl i B | HEKE | HEHEBE [EERHHE W
AET
R A T m3 13.5 13
FrWET
2 LB m3 235 23
JOyoET
EELT
PRYE ) m3 17.1 17
b m3 6.4 6
JOyOiEmEET
pAEDPLi ¥EZ 35cm m2 25.6 25
EHars)—k 18-8-40BB m3 2.6 2
fA a2 —k 18-8-40BB m3 5.6 5
FARE RC-40 m3 9.4 9
Rim3a2')—k m3 0.98 0.9
vy —hE H=300 m 14.0 14
O Lk &HIVYY-F T 1.0 1
HET FURITT m2 1.3 1
L
FRAI7IVLEGET BABMETAIY t=5cm m2 8.5 8
TREEEIE HEM t=3cm RM-30 m2 8.5 8




BEMLRER

A4 : i3
RENFT AR H AR R FHKAT % A
LYBE
I & E Al ¥ Rl R O® B | HEH#E MEBE |ZERANE B
BEYRIELT
SHEhREREEL T
SR E t=5cm m2 16.0 16
% iz U] B t=5cm m 16.0 16
TRI7 IR E R S m3 0.8 0.8 16%0.05
RERT
HEEIHEKT
et m 5.5 5
R EREHE ¢ 300 m 220 22




£ e iEAl JOvrEnEE
1EH
A = 25 Bf(m) EiE (m2) [FHEEREmM2] & &) ]

No.0 — 0.83 - —
No.0+6.0 6.0 0.97 0.90 5.4
No.0+10.0 40 057 0.77 3.1
No.0+14.0 40 1.95 1.26 5.0

H 14.0 135




EELTHER

JRyOEREE T

PEEET
RIEY HEL
oAl B % T ¥ D =
m3 m3
17.1 6.4

a

17.1 6.4




FELTHEHEE

2 W KR
FRYE
It EE B(m) EiE (m2) |[FHEEEm2 & #(m3) ]

No.0 — 1.30 — -
No.0+6.0 6.0 1.29 1.30 78
No.0+10.0 4.0 1.13 1.21 4.8
No.0+14.0 4.0 1.12 1.13 45

g 14.0 17.1




FELTHEHEE

& W E#ERL
#RL
It EE B(m) EiE (m2) |[FHEEEm2 & #(m3) ]

No.0 — 0.49 — -
No.0+6.0 6.0 0.44 047 28
No.0+10.0 4.0 0.52 048 1.9
No.0+14.0 4.0 0.34 043 1.7

g 14.0 6.4




%3'-%

OB ERLMET

il
2
EHHH
Il

A R 2 Al E_El Bt B+ | BAI|
&t niE

BT T

JOvoyiET
PRI (T8)= 13.5 m3

EELT

PERET
PRIE (7)) = 17.1 m3
R D = 6.4 m3
EEISE = 30.6 m3
BT EE = 6.4 m3

i I

TEMERB(LR)/09= 7.1 m3

RIUELEEE = 235| m3




B Rl JoyoiEEET

IOV OEBEET A

Javy:
X 49
R IR g o =
JOvsEESS H=| (1.700+1.900)/2 1.800 m
BIJOvIEEHS h=| 1.800-0.100 1.700 m
JOovoiEmiE 1.70%14.00%1.077 ( &)E2 1:04) 25.63 m2
%2 35cm
EAHaALHY—k 25.63%0.10 256 m3
18-8-40BB
fRsA S —k 10m2&=-YDEKXH=E V=2.2m3/10m2
18-8-40BB
V=2.2%1/10xJ O/ EE A
=22%1/10 * 25.63 564 m3
E=BIN THEDEE
RC-40 H=(2.00+2.20)/2 2100 m
EARADLIEOEETE
b1=0.20%1.077 0215 m
EARAD TIHDORETE
b2=2.100%0.10+0.20%1.077 0425 m
EABADIKE
V=(0.215+0.425)%1/2%2.1%x14.0 9.41 m3
KiRENAT L
0% 1 [ 1 4 L
300%*300%50
Kigaro)—k V=0.70%0.10%14.0 0.98 m3
a9 —hEHE L= 1400 m

H=300




JOv O EEE TRRE

6m in .

No. O#6. 0 No. 0+10. 0 No. 0+14 0

o
Nol 0 o
s -
> |
e o2
ey . gl - 2
8 Zl © s H
T g I = I = I
| & . I
i [={
v a0 -
- S e}
E S 1 E
11 gl = [ 5 H
= L
=z gl = I :
o
2 =
o
2

a2y V—bh7uavy
(#%£35cm)
e

(=
& .
= G/
A= 27 Y — b ) 2, .gn S
(18-8-40) 3 1 2 7
'/_C» (o2} $
0
[Ee)
(18-8-40) 3;
(=]
R
] — &
(RC-40)
JERE T
2y 7 Y—h
. 420 100 (18-8-40)
av s Y—p R
7 (18-8-40)
700
S
1
| s
N =
A 7\
100 520 100

Hlavry—h
720




BEEHESE
oA E#Earo)—k 10 m34Y
]
23 |
27 Y —h
) 420 ) (18-8-40)
100 | 520 | 100
BlLarzy—h
720
AL FRie B o =
avo)—k
18-8-40 ((0.10+0.30)*1,/2%0.42+0.10*0.30)*10.00
m3 1.140
B
—h% (0.10+0.30)%10.00
m2 4.000
HLavol)—k
0.72%0.10%10.00
m3 0.720

0.72%10.00

m2 7.200




HEHES

OB /hOLEsHIVIY-F 1EATHY
3
3 |
/N IR D) =M S=1 : 50
AT B i1 B =
avo)—k
18-8-40 (0.70+0.93)%1/2%2.3%0.30
m3 0.562
Eilp
— % (0.70+0.93)%1/2%2.3%2.0+2.3%0.3%1.077
m2 4.492




HEHES

MR TYETT ERED)
]
23 |
INOLESH VY-
ERUESES N
1, 150
No. 0H14. O
— W 8
=T
AL FRie B =
RAHEHT
IR Hh R ER 2.3%1.15/2
m2 1.320
BRsA &IV -
1.32%0.35/2
m2 0.231




W x= I & 5 £

SR
p:p =T it _ w * A= PR _ fis
=)= iy miE RE 1y miE

16.00 1.00 16.0

& 16.00 16.0




ft L

B Fi A

UL

)2 L 4R H

R LHRA

FE R i

V= (1.0+3.0) /2%1.0%10.0

20. 00

20. 00

20.00

20. 00

20.0

20.0

20.0

20.0







0.2 0.
6 6.
0.6 0.
2 2.
3 3.
V= 9.9 2.7 0.9
6 6.
35cm 13 13. A 5.8 7.9




H=25cm 8 8. L= 4.0 + 4.2 =
H=10cm 1 1. L= 1.5 =
H=30cm 1 1. L= 1.5 =
0.7 0.
3 3.
2 2. A=(_1.0 + 1.20 )*0.50*2 =
1 1.
13 13.
W=3.0m 22 22.




1-1 4.00 0.2 0.8 1-1 4.00 0.0 0.0
2-2 4.20 0.4 1.7 2-2 4.20 0.0 0.0
3-3 1.50 0.1 0.2 3-3 1.50 0.1 0.2

9.70 2.7 9.70 0.2




1-1 4.00 0.8 3.2 1-1 4.00 0.3 1.2
2-2 4.20 0.8 3.4 2-2 4.20 0.3 1.3
8.20 6.6 8.20 2.5




(

)

3-3

1.50

0.4

0.6

1.50

0.6




1-1 4.00 0.5 2.0
3-3 1.50 0.7 1.1
5.50 3.1




35cm A= 1.46*4.00 5.84 5.8
18-8-40 V= 5.84*0.22 1.284 1.28
C-40 V= 5.84*0.35 2.044 2.0
t=1cm A= 1.46*0.35*1 0.51 0.5
H=25cm L= 4.00 4.0




35cm A= 1.46*4.20+1.20*1.50 = 7.93 7.9
18-8-40 V= 7.93*0.22 = 1.744 1.74
C-40 V= (1.46*4.20+0.70*1.044*1.50)*0.35 = 2.529 2.5
t=1cm A= 1.46*0.35*1 +1.20*0.35*1 = 0.93 0.9
H=25cm L= = 4.20 4.2
H=10cm L= = 1.50 1.5
H=30cm L= = 1.50 1.5
t=10cm V= 0.59*0.05*1.50 = 0.044 0.04




H=25cm

10.0m

18-8-40 V= ((0.10+0.43)/2*0.15+0.43*0.10)*10.00 0.827 0.83
A= (0.25+0.10)*10.00 3.50 3.5
18-8-40 V= 0.63*0.10*10.00 0.630 0.63
A= 0.10*2*10.00 2.00 2.0
A= 0.63*10.00 6.30 6.3




H=10cm

10.0m

18-8-40

V= ((0.40+0.506)/2*0.10+0.13*0.065/2)*10.00

0.495

0.50




H=30cm

10.0m

18-8-40

V= (0.31+0.13)/2*0.30*10.00

0.660

0.66




875

100.

=
w

1,750

.40 SL=1.46

1.75*0.875/2

0.766

0.766*0.35/2

0134




X # N % & 5 & 2
MO OB OR R ET K R W




HERER

AN RFMII
RERRT AR AR IR FHRET KA #1A
LIHE
I iE 1 7l # Rl i B | HEKE | HEHEBE [EERHHE W
AET
A T/ m3 3.6 3
Bt T8 m3 0.7 0.7
BIMET
2 LB m3 5.7 5
REER Rt AR m2 43 4
U EEmEY m2 2.2 2
JOyoET
EELT
K T8 m3 1.1 7
HER m3 4.3 4
JOyOiEERET
pARDPL 22 35cm m2 11.7 11
EHars)—k 18-8-40BB m3 1.2 1
A1 —k 18-8-40BB m3 2.6 2
FARE RC-40 m3 5.9 5
Kigao)—k m3 0.20 0.2
vy —hE H=300 m 4.1 4
NOLESHT =13l 1.0 1
BEYIELT




#HERER
CNEZE KA
RAMFF M F AR FLRAT K4h
LMBE
I i Al M Al HO® B HE=E BREHEBE |[ZENHHE B
EEYRIELT
Joy REL m3 48 4
REET
FUIHEIKT
gL m 9.6 9
REREREHE ¢ 600 m 14.0 14




£ e fEH JOvyEEEE
1EH
A = 25 Bf(m) EiE (m2) [FHEEREmM2] & &) ]

No.0 — 1.00 - —
No.0+2.0 20 0.70 0.85 17
No.0+4.1 2.1 0.70 0.70 15
No.0+4.6 05 0.90 0.80 0.4

& 46 3.6




% M BiT JOvyEEEE
Bt
It EE B(m) EiR (m2) |[FHEEEmM2] & FEmd) ]

No.0 — 0.10 — —
No.0+2.0 2.0 0.30 0.20 0.4
No.0+4.1 2.1 0.00 0.15 0.3
No.0+4.6 0.5 0.00 0.00 0.0

B 46 0.7




& e EEER(ET

B T SAEER
I EE Bf(m) & (m) T8 & (m) & #H(m2) bl
No.0 — 0.60 — —
No.0+2.0 2.0 1.40 1.00 2.0
No.0+4.1 2.1 0.50 0.95 2.0
No.0+4.6 0.5 0.50 0.50 0.3
B 4.6 4.3




& W ZEER WL
Y LEEER
It EE B(m) & (m) 08 & (m) H F&(m2) ]

No.0 - 0.80 - -
No.0+2.0 2.0 0.00 0.40 038
No.0+4.1 2.1 0.90 045 09
No.0+4.6 05 0.90 0.90 05

5 46 2.2




EELTHER

JRyOEREE T

PEEET
RIEY HEL
oAl B % T ¥ D =
m3 m3
1.7 4.3

a

1.7 43




FELTHEHEE

& e OKYE
PRYE
It EE B(m) EiR (m2) |[FHEEEmM2] & FEmd) ]

No.0 - 1.90 - -
No.0+2.0 2.0 1.70 1.80 36
No.0+4.1 2.1 1,50 1.60 34
No.0+4.6 05 1.30 1.40 07

5 46 7.7




FELTHEHEE

& W E#ERL
#RL
It EE B(m) EiE (m2) |[FHEEEm2 & #(m3) ]

No.0 — 1.10 — -
No.0+2.0 2.0 1.00 1.05 2.1
No.0+4.1 2.1 0.70 0.85 1.8
No.0+4.6 05 0.70 0.70 0.4

g 4.6 43




%3'-%

OB ERLMET

il
2
EHHH
Il

HHRIFRAE Al i#® Al B T B+ | B
JE 3n ol B
BRI T
JOyyiET
fEEI (EF)= 3.6 m3
Bt- 0.7 m3
EELT
PEEET
RAE (L 7))= 7.7 m3
##E D = 4.3 m3
EEI &5 = 11.3 m3
BErEE = 5.0 m3
JE IR
TEMBERB(LR)/0.9= 5.6 m3
BRINEFTESE = 57| m3




Oy iEHEE T NRE
B R JovuoiabERT
Javy:
X 49
R IR g = H =
BIOvo8TENY S h=| (2.620+2.665)/2 2643 m
JOvoiEmiE 2.643%x4.10%x1.077 ( BE 1.04) 11.67 m2
2% 35cm
EAHaLH)—k 11.67%0.10 117 m3
18-8-40BB
RASHaA S —k 10m2E-YDEKRHE V=2.2m3/10m2
18-8-40BB
V=2.2%1/10xJ Oy o EiE
=22%1/10 * 11.67 257 m3
=BIN A EHEDEE
RC-40 H=(3.020+3.065)/2 3.042 m
EARARD LiHEOEETE
b1=0.30%1.077 0.323 m
EABADOTIHOEE
b2=3.042%0.10+0.30%1.077 0.627 m
EABADIKTE
V=(0.323+0.627)*1/2%3.042%4 1 592 m3
KirENAT L
% 1 [ 1k #4 L
300%300%50
Kigaro)—k V=0.485%0.10%4.1 0.20 m3
aVH ) —EE L= 410 m

H=300




JOv O EEE TRRE

7 nyhiEEEREE TRER 1 : 100

N+ AIFEA LT 1

FUMEFII-F avh-17 nysEET
500 4,100

2,100 . 2,000
| | [=]
<| o
& & = =
s £ £ £
V99. 610 99, 605
S 99, 582 99. 560 =
= : =
8 : 8
1
& i 97. 530
g A0 gle| Y o vereio gl e
i — ~| ! | T
| === < o ! QV )
[ S (.. V96. 840
V97.340 71”71 : 5
o 1 ] o
5r) 1 ™
 — t
V6. 440 7 - i NVo6. 440 ~
i i i
1 1 1
1 1 1
1 \/95. 000 H :

HEBTEFEME 1: 20

~
0 100
&
avhy-t
18-8-40
i \
[

B Lavyy-+

300

100

100

250 1,300 250
1,800




oA EEEaroy—k 10m3zY
]
23
HEBETEFEME 1:20
~
O 100
\=
avh)-p
18-8-40
el \ _
\ |/ =
# L avh)-t 104 520 10
720
AL FRie B =
avo)—k
18-8-40 ((0.10+0.30)*1,/2%0.42+0.10%0.30)*10.00
m3 1.140
B
—H% (0.10+0.30)%10.00
m2 4.000
¥yLavo)—k
0.72%0.10%10.00
m3 0.720
HMEEIE
m2 7.200




HEHES

MBI YTV -+

1&Erfr5EY
]
3 |
I YHFavh-tT 1:50
No. 0+4. 1 No. 0+4. 6
808 783
AL FRie B n =
avo)—k
18-8-40 (0.808+0.783)*1/2%(3.165+3.17) *1/2%0.3
m3 0.756
Eidp oAl 0.808+*3.165+0.783%3.17+(3.165+3.17) /2% (1.077+1.044)
m2 6.047




W x= I & 5 £

70y oERE
AR iz w = AR iz __ ]
1R Fi5 LY B8 Fi5 L
NO. 0 1.10
NO. 0+2.0 2.00 1.1 1.1 2.2
NO. 0+4. 1 2.10 0.9 1.0 2.1
NO. 0+4. 6 0.50 0.9 0.9 0.5

& 4.60 4.8




ft L

B Fi A

UL

)2 L 4R H

R LHRA

FE R i

V= (1.0+3.0) /2%1.0%10.0

20. 00

20. 00

20.00

20. 00

20.0

20.0

20.0

20.0




oK F #® 2 & B B
WHBRIREASFKE £ K




AN 7 KEg

REAAF AL HEBRFHRETHKE A

LIHE
I iE # Rl b B | HERE | SHEBE ([FERAHE GRS
aro)—k 3 38 3
Ba t=15cm m2 4.9 4
t=10cm m2 3.5 3
BEYRYELT
a9 —kRYEL | —k m3 1.4 1
E A5 \HI)—k m3 1.4 1
R & T =
KT Tos5T 2.3 2 A=C 0.5 + 1.80 )*0.50%2 =
R FHEK i 8 8




% FRaDY)—MTER

& v)—k

Al 5 EiE (m2) |FHETEIE(m2) 4K 35(m3) &
No.0 0.183 —
No.0+2.0 0.138 0.16 0.32
No.0+2.0 0.138 —
No.0+10.0 0.103 0.12 0.96
No.0+10.6 0.103 0.10 0.06
No.0+10.6 0.107 —
No.0+20.0 0.092 0.10 0.94
No.0+29.4 0.098 0.10 0.94
No.0+29.4 0.098 —
No.0+31.3 0.102 0.10 0.19
No.0+31.3 0.102 —
No.0+34.7 0.112 0.11 0.37




3
]
Eih
in
O

mooA:
%

MEWT H=1:200 V=1 :20

No.0 No.0+2.0 No. 0+10.6

No. 0+29

4 No.0+31.3 No.0+34.7

C
|

AT I = BN B
ERERa (1.78+1.33)*2.0/2+(0.93+0.97)*1.9/2
RC-40 t=15cm
m2 49|
HEERa (0.98+1.08) *3.4/2
RC-40 t=10cm
m2 3.9]




& FroERUiEL

YL
B = EE Bf(m) EiE (m2) |[FHEEEmM2) K FE(m3) ]

No.0 — — —
No.0+2.0 - — — —
No.0+2.0 — 0.138 — —
No.0+10.0 8.0 0.103 0.12 0.96
No.0+10.6 0.6 0.103 0.10 0.06
No.0+10.6 - — — —
No.0+20.0 — — — —
No.0+29.4 - — — —
No.0+29.4 — — — —
No.0+31.3 — — — —
No.0+31.3 — 0.098 — —
No.0+34.7 3.4 0.108 0.10 0.34

12.0 1.36




# oFRaVYU—~ REE(LD)

A = EE B (m) £&(m) E#E (m2) bl

No.0 — 1.85 —
No.0+2.0 2.0 1.40 33
No.0+10.0 8.0 1.05 9.8
No.0+10.6 0.6 1.07 0.6
No.0+20.0 9.4 0.94 95
No.0+29.4 9.4 1.00 9.1
No.0+31.3 1.9 1.04 1.9
No.0+34.7 3.4 1.14 3.7

E 34.7 37.9




& MHFHFRIVY)— KREFE(T)

A = EE B (m) £&(m) E#E (m2) bl

No.0 — 1.81 —
No.0+2.0 2.0 1.36 3.2
No.0+10.0 8.0 1.01 95
No.0+10.6 0.6 1.03 0.6
No.0+20.0 9.4 0.90 9.1
No.0+29.4 9.4 0.96 8.7
No.0+31.3 1.9 1.00 1.9
No.0+34.7 3.4 1.10 3.6

E 34.7 36.5




18 Bl ERRLIET

J0Ov7:
X 59
AR Bk — EN n_ =
I LB BERASE IUE L T.L 0
a7 ) — 1.36
1.4 m3






